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SF : fix) = ax + but
FF: fan= atX-d)(X-ed

EX:Express thisin FFforfix):(2-4>(1×43)
Ans:fox) =[ ](X+3)-' )x.-2/
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= _ (9×-2){X+3)>
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Ans: Find theteos

offix)
fed)= a ld-dl(de)=0feet0Xin-triple aka zeros



fas)=36*51_ _ _-7)
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=3 . 0 I Ä2)=0
fl?7=3(t5)\7-7)= 0
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fix) tax 2+5 It C

The zerosare given by thequadratic formula! ï
x in-SIT5 -4e

QE



Example -fix) =242+543Write it inFF
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(In class)Wife in factor formFUF4'-19×+12
Ans:general for of Quadraticexpresh'm/fouctin

f(x)=axztbxtl£ EJOvadrechifoundx =_-SIT 5-494
293rd)
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General formfactor tomfix)= ï 'X-d){X-e)

ï.
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4) Find teos fix 7=0! 4 Yd.194+12=0M X = in19IT192-4ty.It
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X= _
19th361.19t

8 = _ 8
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